i’

Jut
RA Y TR

~N
bd

R B ZE Bl [ D S5 PIT

Violin II

102 ca.)

Misterioso ma con moto (J

R

[ £an W L W9
ANV

o &

mp

i =g

R,

6

28

7 44

pizz.

17 ATl

p—

b

P2)
o

gt

37
Va)

ANIVJ

4

744
L LT

V4




pos. ord

sul ponticello

7
LAl £ )

7.

o4t

T

Violin II

i T

~ ] N ]
o EEE | 8 Cn
r 1T U.l
. el ™
hunaficy
ol ¢
[ YR ml
[
LU | |1
i
A il
LN
1 H T %S
- I
e ]
ul -
o [ 1}
Q] Y T
ol
L i
==
N x| |ﬂ.ﬂ
“INGe SN A

pS—

vy -

-

G

— pcresc

o

4 4. te
"

17 T e

36
ST
41
45
49
U LT

ANIVJ



| T8l
&l NEEE
e L
P4 v
Q] A
N ' T <
| T &
| L
NN e
A N9 !
QL
4 L
Rz
NEE
M==3
T
HHH 1
ol 1
(1T Y|
TR
Rz Qlll
m Raal
s FLa
QL — R
QL e
gy RN ===
2 i
N
Q
AUI\‘\ p
b 0\“ -
1L YRS
QL 1] wo
el T ]
MJ.
| ol -
S v>
=
QLI w~ ﬁ e
P ™ N
Y £S5 ES =
Real R Real
E = A A
Q o T™NEe Ny mnunmwd 2




Violin II

88 ca.)

MQderato(J

arco

pizz.

/) #
L3

dim.

0 #
g

cresc.

pizz.




L

—_— e = —

120 ca.)

Allegero (J

arco

Violin II

mﬂ ﬁL | i e
ﬂ 1 LA
. .q il T \\MW>
\f . _ . ] e}- “y
NI i 11 I
i ¢~ . I 0 L
g A X L e
} il i
] E-J_“ b
AQ el i iy
o I ™
| Q \— .4>
i .f .
i iy
M~ s nL
Rl =

s ¢ ¥

AN

S
|
— = —a
e
|

5.
|n. A x| ov
=T - :
Q Avnmwd &S ) SN a e




46

free

14 4

-

74

iy
¥ hel

L

by

m

-

-

/_\

2

NIEg=H

ePe

£eo .

p cresc.

Gt
oJ

(e——
A1V
A1V
60
A\IY
69

/i

£ fele he be

>

-

A~

<P_

b.

b

I

1/

79
82



arco

114 ca.)

Allegro non troppo g

Violin II

pizz.

11

A5 Y g
~ S
ol g D,
[ ( o 1.2 [
i il 1
NI | :
L ¢ o~ 3 ~¢ [
|| E m
I H S
) < |
T @l a2
* 1 © T
iy A il » i
nr i ' iy ke
1 f G &l L TTT] e
. ol N ] > lhdl
lw .Nﬂdv ll.' [TTe
{ Tl & LU < EEEE
o [ YER \\HW
. = o > 4
N % ik il
A [ Q) |
| N N ol 1 T
il T g
. ] (YA a
| A s T~ I 1T
l 1T v
i ] o 1
4 (
'y { Tan
o il i
L Y ten
NIl i ‘
- ‘V\\ ‘V\\ m [ ™
o s ) ST ). B
u ES S| E< S E<S E<S
R== R== R= X
v v e = =
IS™NGe S™NGe 2N 2 DNEro P o

e
%

66 ca.)

dim.

meno mosso (¢




VI
—

Violin I1

40 ca.)
|
I

Adagio sostenuto. g
JA
= 3

/) #
P

)
oJ

o

o

LN

—

<

W]
L4

e e

. o o




Violin II

T
q
all
N

N
Sl
R
)
]

~ B

< i

(@]

Q

-

o |1

~—

1

S

D

=

[=]

=
A
nunm

)
oJ

pizz.

17

hudl

P
=
\

22

cresc.

2 4 arco




1]

11/

1K 3

Allegro moderato J=96 ca.

Violin II

/)

LIx

LYY

 1ha

LYN

 1ha

cresc.

Jp

e e

-,
<

=




cresc.

arc

y

I
0

H=d
68 ca.

1K 3

1/

G
©

Maestoso (J

f

—

rit. un poco

— 3

G

T

PP delicatamente

=D
G
e

T

cresc.

20
A
e

P D

mf

|
H'

=D
e

[ g

pizz ‘—--1

L N

Y w | w
(Y  o° o0 o ® @ i

f) =

IV,

U e T
17T

ANIV

101

113

o

116

125

/41

ANIV

’s



